5005

8x50¢y # =400

AR b
o 3
AR b
SHE
25 3x150=450 (25) SR38 % T7 -1 17 5~
150 ISR38—500—-A &
B = mm
| | | | |
g —- | - | - —- —- | - —- | - —- | - >R
— L U N N/ U U - B8 = 2.9kg
. \ \ \ | [ 3
5 o WE = 0.9MPa (9.18kgf/crn’)
u o EREHEE = 0.05~0.6MPa
@\7)/4 <W905mm)$ﬂb 2—Mb (O5W~6W2kgf/cm2)
Re' /4 C240-7: 3mm (Bfif8) EREERE = —5+80°C
174460 2. % : 9B (BL. FLYBEOEEEM)
(18) ERRE = 17 - RO 2 (EBAD
7 NS SHE
=B 9 K.ophK=L = SUJ2
- o N Fu = SUJ?
i oy i P 0.4MPa 0.5MPa 0.6MPa xvyT = POM
- ,/L . o §4.08kgf/cm®} | {5.10kgf /em®} | §6.12kgf /cm?} Ouvs7 = NBR
J@ = Bl i o o e CALYRRD = BESY R
] A=W 1ESYDY T HED : : : /T‘.?f\ = ABD6S-T5
ﬁ//Q;g‘ §33kaf} §42kgf} §52kgf} 757 = A6063-T5
n= = SGD400-D
+— ) TR = 2.91kN 3.70kN 4.59kN
= U7 5RBEDY T MER
= A& T AR §297kgf} §378kgf} §468Kkgf}




